Group 4 GS Model Test

Prepared By www.winmeen.com

Winmeen - Group 4 VAO General Studies Model Test 14

1) #flwnesteng CsiHOS®E .-

1) yelluflett spm& Geussld 9.72 &.L5/eflevTrig.

2) yalluilstt efl(Gu( HlemeBGsusd 11.2 &).15/aflestmy
A. 1wl (B B. 2w (hd
C.1&2 D. etgle|b Gevenev

Choose the correct statement.
1) The speed of rotation of the earth is 9.72

km/sec
2) Escape velocity of the earth is 11.2 km/sec
A.lonly B. 2 only
C.1&2 D. Neither
2) QuNH5E)5.
a) &pm CuanssT — 1) 26TEnWNET LMY
GsmigeT

b) uenL GuankiseT — 2) wenwHm GsmkiseT
c) &yl Guakis6T — 3) Tmev CL&MLIGET
d) &nj uewL CuanissT — 4) @y C&MBISET
A2 3 41
B.1 4 2 3
cC.2 1 3 4
D.4 3 2 1
Match the following.
a) Cirrus clouds — 1) Real rain clouds
b) Stratus clouds — 2) Rainless clouds
c) Cumulus clouds - 3) Cause drizzles
d) Nimbus clouds — 4) Thunder clouds
A2 3 41
B1 4 2 3
cC.2 1 3 4
D.4 3 2 1
3) seumns QuNBHSHWeTenens CHIHOS®H.
1) P - siem6v — 3.8 km/sec
2) S — oiemev — 3.2 km/sec
3)L - siemev — 1.4 km/sec
A1l @b B. 2 L' (Bb
C.3 WL @b
Choose wrongly matched.

1) P - waves — 3.8km/sec
Learning Leads To Ruling

D. Sieneniggid

2) S - waves — 3.2km/sec

3) L - waves - 14km/sec
A. lonly B. 2 only
C. 3only D. All

4) aLGanengHlev B EFSSH QHHII
GLmeuL(poeny & CmnedH elmbd  sSTHOHIEIZ)
eTeueum)| HempssLILGEMS)?

A. Guhsssw sTHm)|

B. eflwnuny smhm)

C. sI(meu &p&E&s sSTHm|

D. QgL smHEmmLLd

In the Northern Hemisphere the wind blowing
from the horse latitudes to the Doldrums is called
A. Westerly wind

B. Trade wind
C. Polar easterly

O

Jet stream
5) @6umnlev 6u6TUTL 6V LO6TBTEMESHILI LML &6ummesT
Famenm Hevor(HLily.
1) SpHMILI L(Hensserilsn oL (HGo
SMevoTLILI(h&l6dTm60T.

2) @51 SpMIBETTE Sllpsg UTLILLL efipLige).

3) umehougemeny AHHswrsaD CUILLTAWSES
(&HOMEUTSHELD ©C\ST6TTTL6DI6.

4) @) B1&ELD 6UEITLOMTET LO6TIT.

A 1&2 B.1,2&3

C.23&4 D. 2&4
Which of the following statements are wrong
regarding Alluvial soil.

1) Found only in flood plains

2) Deposited by river during floods

3) In this soil potassium is less and phosphorus
is more

4) Highly fertile soil

A 1&2 B.1,2&3

C.23&4 D. 2&4

6) sflwnestens CaiHRSMH .
Page 10f 19



http://www.winmeen.com/

Group 4 GS Model Test

1) @bslTnanbs Cadlw LmisT wHmIb euestallevris,
SIETBTTEVULILD 46m60T LDEBELUIEH DI6BIDTHSI6TETS.

2) sUPGBILgsy  CeLbHSMhIGEL  LMEnEUS6T

&I6sOTTEVILD SMEHFILILD TeUL L &&60
SHWIDIHGI6TTeN ).

A 1w (Ho B. 2wl (hbd

C.1&2 D. e1gi6|b Gevemev

Choose correct statement.
1) Indira Gandhi National park and wild life
sanctuary located in Anaimalai.
2) Vedanthangal Bird sanctuary located at
kancheepuram district of Tamilnadu.
A. lonly B. 2 only
C.1&2 D. Neither
7) SpsevsiLeubmie HId B igev LlesTummUILI(HLD
Geuenmessr (PeMSET WTetIGU?
1) @uihemna GeusmessTEnLD
2) ssttestlemmey GeueTmessTemLo
3) austsilas GeveressTen D
4) GzL Geuemessiemio
A 1,2&3 B. 2,3&4
C.1,3&4 D. sienesisgId

Which of the following Agricultural methods are
followed in India?

1) Organic farming

2) Sustainable farming

3) Commercial agriculture

4) Plantation agriculture

A 1,2&3 B. 2,3&4
C.1,3&4 D. All
8) QuNpS515.

a) Blauuflu Seyssal L — 1) emLST6n

b) & opipwmest e5ifl — 2) S@rLilwim

¢) BaluGuflw Susnun — 3) sudfluy

d) Weuuiflw mesesfiy efl — 4) @BECHTGesTOH WIT

A41 2 3
B.2 1 3 4
C13 4 2
D.3 2 1 4
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Match the following.
a) Largest Archipelago — 1) Baikal
b) Deepest Lake - 2) Arabia
c) Largest Peninsula — 3) Superior
d) Largest fresh water lake - 4) Indonesia
A.41 2 3

B.2 1 3 4
C1l13 4 2
D.3 2 1 4

9) SpsevuLaunnilev 618 JieMETTOHEGSL Hevall
L 56t (HMSHCH 6T 160607
A. 6 (p56v 14 suwig) euen] 266 (5PHENSSHEHSHE
Liwg)6iTen QBT &858 Sevallenwl Sierflliug|.
B. Quesorseflsor  mEuUm® ooOmb  opFHflwy
vuiihFuflemeser 2eng@ailliLig).
C. GHensserfler sHmev Hlmemest GobL(BESI6uG).
D. Q3658 sevall 155 HH& HeustTd CFeISHgI6ug).
Which of the following is not an objective of Sarva
Shiksha Abhiyan (SSA)?
A. Provide useful elementary education for all
children in the age between 6 to 14.
B. Encourage enrolment of girls and teacher
training
C. Achieve significant enhancement in learning
D. Focus on elementary education in learning

10) @hHwneflstt w&H6T QBTMSE GL(HSHSHS60
abs pevoi® el Quiflw Uleney oyevo(h eTewt

SlevpssLLBEINS)?
A. 1891 B. 1909
C. 1921 D. 1935

In the demography of India which one of the
following year is called the Year of Great Divide?

A. 1891 B. 1909
C. 1921 D. 1935
11) QunmS51s.

a) Qeusierfl YyLl_é) — 1) etesorOl6B0TL 6115818861
b) @em@Epdleuliys ULl dl — 2) 2 qraiseit
C) o(paeT ULl — 3) (pLlemi
d) smbuev yyLd — 4) @mmev
Al 4 2 3
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B.2 3 41
C.31 2 4
D.3 41 2

Match the following.

a) Silver Revolution — 1) Oil seeds

b) Pink Revolution - 2) Fertilizers

c) Yellow Revolution - 3) Eggs

d) Grey Revolution — 4) Shrimp
Al 4 2 3
B.2 3 41
C.31 2 4
D.3 41 2
12) sflunevtens CHiHOSH (-

a) Slenetihglevs  Brewoil  HlElwsHlest
SE6VENIOWISHD UNaSHBIL65T60 2 6iTeng).

b) 2608 asnzMy HneuETESET SHEMELENWSD
Qgevileunailev 2 6iterng.

c) 5w pBrhHseT sevall, Sinflailwey wHMID
ueserUm (h  Slevwlililest  Femevemwwsd — Lmflflev
2 6iTemg,|.

A 1&2 B. 2&3
C. siemerisgiid D. sigiayb Qevemev
Choose the correct statement.

1) The headquarter of IMF is in Washington.

2) The headquarter of WHO is in Geneva.

3) The headquarter of UNESCO is in Paris.
A 1&2 B. 2&3
C. All D. None

13) SpssevorLeummiet sflwnest eundHlwrkigemen
C3iBOBE.

1) eflpuement euifl (5 WeOM(LPS 6uIfl DG LD.

2) suifl FlaLpeywb surfl Semow|bd emeuly BES all(weug)
Gy suifl (WemMWIMEGLD.

3) eu@pwnesteuflE UL 1961 o4 Spevei(H

Q&messT(heurLILL L&)
A 1&2 B. 2&3
C.1&3 D. Sieme1Hg)D

Choose the correct statement.
1) Salestaxis an indirect tax.

Learning Leads To Ruling
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2) The incidence and impact is on one and the
same person means this type of tax is called

direct tax.
3) The Income tax Act was introduced in the
year 1961.
A 1&2 B. 2&3
C.1&3 D. All
14) Qunp5s1s.

a) mIsF mlenlp eufl — 1) &HMIeOM eFHLITL L6

b) Qgmglev eufl — 2) eflwmumfl

c) Ggemeu aurfl — 3) HQWeBETL. 2 HLSSHWTeT

d) wHiys sal® eufl — 4) LESHSIUS SO
6U6VEYITBIJGETT

A2 41 3

B.3 2 41

C.1l13 2 4

D.4 1 3 2
Match the following.

a) Octori tax — 1) Tourism operator

b) Professional tax — 2) Trader

c) Service tax — 3) Cement manufacturer

d) Value added tax — 4) Medical profession
A2 41 3

B3 2 41

Cl3 2 4

D41 3 2

15) Czflw eu(pNHens Sinflaflwey (Wemmulley
Slenai(h QFLG (PHEv HUIF wj?

A. sngmumil meuGrmed)

B. VKRV. gmeu

C. &l. prasymegsst

D. Y.V. QrLig

The first scientific attempt to calculate National
Income in India is made by whom?

A. Dadabhai Naoroji

B. VKRV.Rao
C. C.Rangarajan
D. Y.V.Reddy
16) Uletteu(peustroummiley 6bg  QemevTLINETIS)]
Bumensuilév 6tTEHMHS SIEM6VS(ETHEE
2 G ITIJ6TTILONG; 2 6iT6Ng)|?
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A. opeosUT &S, LILLT s&lisel

B. GaGsnL s8lise, X- sdliser

C. X- 58lj86iT, smom sHigei

D. JLLr 58lj&6T, smom s&Higer

one of the following pairs of rays is
electromagnetic in nature?

A. Alpharays, Betarays

B. Cathode rays, X-rays

C. X-rays,Gamma rays

D. Betarays,Gamma rays

17) Sigw)158mellest Blemm eTevoT eTedILG] ________
A, e@QUTRSID gD 6TevTemessT Gl HNSGLoME
BmEED.

B. eti@Qumpgid Sigsm)l 6Tesotenssst el (Semmeuns

Q(HSELW.

C. e1l@UMRSILD Si6TD)| 6T6TBTEBDNM (& FLOOTE G(HESLD.

D. flev Crrmissefley iewm) eresotesslin(g glownsGeur

3l6vevg) Semsall HsMsECeuT Q(HED.

Mass number of Nuclearis ____.

A. Always more than its atomic number

B. Always lesser than its atomic number

C. Always equal to its atomic number

D. Sometimes more and sometimes equal to its
atomic number.

18) QuNmH5515.
a) sHflwasd — 1) o5s Hluyl L et
b) gmjLilwev — 2) gesor_egest
c) Ly efleme — 3) Qamsoin)l QusGsMTT6L
d) X-a8)7 — 4) SLe0UiL 865TeMLe6sT
A.21 4 3
B.3 41 2
C.4 2 31
D1 2 3 4
Match the following.
a) Radio activity — 1) [saac Newton
b) Relativity — 2) Roentgen
c) Gravitation — 3) Henry Becquerel
d) X-s&ij — 4) Albert Einstein
A2 1 4 3
B.3 41 2
Learning Leads To Ruling
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C.4 2 31

D.1 2 3 4

19) spiGunev faeallstt AEH euenyFH eTeusun)
enP&aILGEMSI?

A. Brilifley Gromul B. umeSleGuedlwim

C. 2w 155 S(WHSHWD D. 2.1 60 LIHLO6DT
Abnormal growth of adipose tissue is called as

A. Diabetes

B. Polyphagia

C. Hypertension

. Obesity

20) peynidl HianssHer G 95686 ENSs
&6y Qan@ssuulBeteneummist  Fflunestens

O ¢

C5IH615(6-
1) @ parTiduilsst Qss WESET Ggmensuiley
ulpwellL L. sngluflesty woHmbd L@ ipulleoty

& &H6TOGTen W6t el 55815 eJHmeunm)
SlUTHEHSHG BaITLE HiaunsssHer L @&ss50
QewwiuGE DI

2) Qurss QL eHIGSEHsfe  cpstiiley  (H
UBRIEDE (Gempwoey GLestIHEhsE GLeflss

GeussoT(H'LD.
A. 1ol (b B. 2 b (hid
C.1&2 D. s1gi611d Qsvemev

Choose the correct statement regarding the
reservation of seats in municipalities.

1) The reservation of seats for the scheduled
castes and scheduled tribes in every
municipality is proportion of their
population to the total population in the
municipal area.

2) The reservation is not less than one third of
the total number of seats should allocate for

women.
A. lonly B. 2only
C.1&2 D. Neither

21) &G 2e6item FwetTUN(D ETHIHOBW TfHNI5HE

2 SJ6soTLOM(EGLD?
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sMGuMemanL Gl + o sfgesr ----- > GMJLIGOT 60
o580 + 5 + 2pHDS

A. Bl Gausons eTflgev

B. Qugjeuns; srflgev

C. GeusLons; eTflgev

D. womiQumns eflgso
The following equation is the example of which
type of combusion?
Carbohydrate + oxygen ------ > carbon dioxide +
water + energy
A. Very quick combustion
B. Slow combustion
C. Rapid combustion
D. Incomplete combustion
22) S1psaeveLsummieT Heumnestens CHIBHOS®.
1) emeul_LSlesT B-12 @6 2 6item 2 Govmasd GamumsvL..

2) smaunsdlet LFmFWSHeL 26Tem 2 BevMsLD

&Symslwid.
A 1wl (ho B. 2wl (hb
C.1&2 D. sigi6ib Gevemev

Choose incorrect statement.
1) Vitamin B-12 contains mineral cobalt.
2) Metal present in chloroplast of green plant is

chromium.
A. lonly B. 2 only
C.1&2 D. Neither

23) flett Quimnfluflev LwesTLHD HHZl6ULD 678?
A umGL s&gIeuld

B. GeumeuLIm 5 gI6uLd

C. oy H&gI6uDd

D. Ulemsir g&gl6uld

The principal used in electric generator ____.
A. Farade Principle

B. Volta Principle

C. Amphere’s Principle

D. Fleming's Principle

24) Spsevoeummie sflwnen samenm CsiHOS 0.
1) ewanlGrm  (HCemmfls  Sblevd  HFLigs
Siflevseng aflL allenenbSHmest DiSsb & TesorLg).

Learning Leads To Ruling
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2) 218196 Siflevid &iflo SHLSl6VLD S (&LD.
A 1w (o B. 2wl (hbd
C.1&2 D. e1g16)1D @svemev
Choose the correct statement.
1) Hydrochloric Acid is chemically more
reactive than Acidic acid
2) Acidic acid is an organic acid
A. lonly B. 2 only
C.1&2 D. Neither
25) &Cip 2 6iten sapmIs6fley (GHUILILLILEG S 6187
1) 2 ufiflwev wSliflEensT LINgIHTSHMS).
2) BMURBISHEDSIT (SETTILONE @GS DS.

3) aumsevihiseilest (GeflTallliLmesiaefley Hevstevstiy

2 mMEUNS SHHEHMGI.

A. Qs 56vTTe0

B. @188 iblevld

C. umjdlé sjslevd

D. e1&5601M60

In the following statement mentions about _____.
1) [t protects biological specimens
2) Ithelpsin curing wounds
3) It prevents freezing of water in coolants of

motor vehicles

A. Methanol

B. Acidic acid

C. Formic acid

D. Ethanol
26) QuUNK5515.

a) engnml(® efssb — 1) emsrmii(y

b) Lwmuliesv QuevedlLeny — 2) eommbiSTammest
S (pseT

c) ®sem sevtemio — 3) WlpulL il oipGest
smanBumemLFlerv
d) Lwmuliesiv @ettAllLen — 4) Niup Ll HluGm
smanBumemLFlerv

A2 3 4 1
.1 2 3 4
.4 3 21
.1 4 3 2

o o w
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Match the following.
a) Goitre — 1) Thyroid
b) Diabetes mellitus — 2) Langerhans of islets
c¢) Dwarfism — 3) Pituitary adeno hypophysis
d) Diabetes insipidus — 4) Pituitary adeno
hypophysis

2 3 4 1

1 2 3 4

4 3 2 1

1 4 3 2

27) evBaerfi GQamilsomi usHev sbLNEsmerflest

Qeauliugeng Gsnmw QFleus) 618)?

A. ey empLTER60T

B. &lyeu smamL_yegest

C. Hgeu Gampuwiid

D. &yeu anjeflwid
Which of the following is used to reduce the
temperature of the spring in MRI scanning?
A. Liquid Nitrogen
B. Liquid Hydrogen
C. Liquid Sodium
D. Liquid Helium
28) GQeusaunelleot QFaflwesi QBHSHHL 66y
eTeuauerey? ( QamjLen )
A. 20 - 20000 B. 300 - 2,00,000
C. 500 - 1,00,000 D. 1000 - 1,50,000
The audible range of bat is ____ Hertz.
A. 20 - 20000 B. 300 - 2,00,000
C. 500 - 1,00,000 D. 1000 - 1,50,000
29) wGsflumiys Qe ubmPlw Fanmiserflsy
SHeUMnesig)| 61517
)  @emiIsE

SlemLwing).

Guoulr  GGImGLIGembasiT
2) AGuNG&MD ismailev GUIFlwg).

3) 2L a(p HeoLwng.
A 1ol @

C. 3w {Hw

Which of the following statement regarding
eukaryotic cell is wrong.
1) It does not have more than one chromosome

B. 2 (Bib

D. Sieme1Hg)D

Learning Leads To Ruling
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2) Ribosomes are larger in size
3) Nucleus is absent
A.lonly B.2 only
C.3only D. All
30) SPpsHETTILMHMIET eMmF6VID HIENTEISET 6THlev
2 eiTement?
A. opepAGwmenGILIfLD
B. QLAGLmsmLL
C. ammGeomemLl_
D. gnGevmemLi_

Which of the following having xylem vessels?
A. Angiosperms
B. Pteridophytes
C. Halophytes
D. Thallophytes
31) QuUNBSZs.
a) 616l Qamevell — 1) 8155 HMs Limsv@LIL
b) LEpems Q&msvesl — 2) 2,4 — D
C) &e06nsG&mevell — DDT
d) uEHsQs&TELeN — 4) GUITLLNGHE Seveme
A2 1 4 3
B1 4 2 3
C.3 2 1 4
D4 3 2 1
Match the following.
a) Rodenticide — 1) Zinc phosphate
b) Fungicide -2)2,4-D
c) Weedicides — 3) DDT
d) Insecticides — 4) Bordeaux mixture

A2 1 4 3
B.1 4 2 3
C.3 2 1 4
D4 3 2 1

32) etrau(meussteumnilev a5l SUMNSLI
QunpSzUILL(heTeng).
A. QuUIg) B6518:E, G - 61HTHESLE 2 ety
B. Qumgy) Qummlils & - wéserensu 2 mLiLilesy
C. sevflipuy wWEFMHT HMID SHOTETTARISET (G -
LD&S6ITE0I6N 516816507 FLIMBMTULIST
D. suswofla 2ipfleumissed (1 - H1$) Siemw&s
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Choose the incorrectly matched pair.

A. Public Accounts Committee — Member of
opposition party

B. Committee on Public under taking — Lok
sabha member

C. Committee on private member’s bill and
resolutions — Deputy speaker of Lok sabha

D. Business Advisory committee — Finance
minister

33) S1p&s6vETL U6 HEUMNETTS)] 6T5).

1) prow sun Ggigelley LBRICHEHE (FHDHIHLILEF
auwigl 30.

2) Geonsaun Ggigellsv LROs[HEHS (HDHIHLILEF
auwg) 25.

3) unpmenpweTmSHHeT QB Aemeussrlest Fal (H&
Gl LS QsnLimeg GLunss Semeveusn] Csiey
Q&WW Fal LULIHLD.
A. 1wl Bib
C.3 wL(pd

Choose the wrong statement.
1) The minimum age to contest in Rajya sabha
election is 30.
2) The minimum age to contest in Lok sabha
election is 25.
3) Joint sitting of two house of parliament are
held to elect the President of India.

B. 2w (hd

D. Sienesggitd

A.lonly B. 2 only

C.3only D. All

34) Ll stTeu (I 6u6BTOU D M) 61T SrHw
snflwevenoliflest  pliLenL  HLevwSeflev

FaMUILLISE)| 615]7

A. Qungs Caizevserfley eungaserflliLg

B. sinfleflwiev LoesTLILIMESTemLenIL aU6TiEHS60

C. Qungl QEN5HGISSH6M6T LIMGISHTSH5H60

D. sflwevemwlienl LHHH LOMID SiG6dTLl
BL&S60

Under the constitution of India, which of the
following is not a Fundamental duty?

A. Tovote in public elections
B. To develop scientific temper

Learning Leads To Ruling
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C. To safeguard public property
D. To abide by the constitution and respect its
ideals

35) UlebTeupeusttaummi6i 6165 wevfls 2 flemiowinesig)
SnsHw TFWEVERLOLILITED SligliLIevIL
2 flemwwngs il [Hsiteng)?

A. B36u6v QUMD 2 flenlo

B. Qansggiifleno

C. s6vall QUMb 2 flenio

D. Geusmev QEwd 2 iflemio

Which one of the following is a human rights as
well as a fundamental right under the constitution
of India?

A. Right to Information
B. Right to Property

C. Right to Education
D. Right to Work

36) SwssevuTLeuMHMI6T
CoBes(6-

1) (Ww&6uen T HTAWEVEMOLILNGET HEDL TG HL 6BIL

SaUMNETT  FaMenm

6T63T LIV 6UM6VIT Fer 151 6BTITIT.

2) slLGHeT opl & eletTLEnS Famlweul G

SHEUTI.

3) oiFemu  udijey GCemiumieml  Fapflweur
SiflevLmip6v.

A 1,2&3 B. 2,3&4

C. siemerisgd D. s1gi611b Qsvemev
Choose the wrong statement.
1) Palkhivala described preamble as the
Identity card of the costitution.
2) Rule of Law was propounded by Dicy.

3) Division of power was propounded by

Aristotle.
A 1,2&3 B. 2,3&4
C. All D. None

37) SpsevrrLeaummie Fflwuneeng CaiH0s 6.
1) @bHw 2 &5 BHwssimdHest (WHBevML HHSILD
Sp&wevemioliL|

2 flemwouilwed BULDE (& BEM6TT

2 6TTEML &SI
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2) e.&5 BHlweinsSlett HH mIpie] &SI LTHE
UL LG S1606v.

A. 1wl (B B. 2w (b

C.1&2 D. e1g1611b @6v6m60

Choose the correct statement.
1) Original jurisdiction of the Indian Supreme
Court covers constitutional and civil cases
2) The scope of Judicial review of the Supreme
Court is limited

A. lonly B. 2 only
C.1&2 D. Neither
38) saumneseng GBS .
1) wmhlevasEnsslemLGuwmss @l 1990 ev
SHMDESHLILILL ).
2) hlevrhis (6Th & 6w L Guiwimest & (pemeu
Siemwsseuy V.P. &b opeur.
A 1wl (Ho B. 2wl (b
C.1&2 D. s1gi61d @svemen

Choose wrong statement.
1) Inter-state council was set up in 1990.
2) Inter-state council was established by

V.P.Singh.
A. lonly B. 2 only
C.1&2 D. Neither
39) SIODEFT6T Fal L& WnH5(S
QuTMULemLWeUfSH6T?
A. LnymEBLO6BTMLD B. NpsLwiy
C. (p56ven &S D. o4(6mB7

The ministers are collectively responsible to the

A. Parliament

B. Prime Minister
C. Chief Minister
. Governor

40) sflunestens GBS

1) wrblev GsiFH60 SpeMETIWT OATHEL D (6THIBITEL
Hlwiestd QawwliLiBE mmy.

2) wrbHlevs Bz ijgev
GlWTHSSM606UTTe0 [HesLILIHEM.

O ¢

SHEBIETOTIII]

Learning Leads To Ruling
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A 1w (o B. 2w (hbd

C.1&2 D. e1g16)1D @svemev

Choose the correct statement.
1) The state Election commissioner is
appointed by the Governor of the state.
2) The state Election commissioner is removed

by the President.
A. lonly B. 2 only
C.1&2 D. Neither
41) ws a6 NIfHHHSg6u FLL1D QamesoTBeunLL
Sp6001(B 61817
A. 1947 B. 1951
C. 1956 D. 1961

The representation of peoples act was enacted in

A. 1947 B. 1951
C. 1956 D. 1961

42) SpsaesniLaummieT Fflwuneeng Caib0s5 0.

) 1919 & pewLOQupm Hleomus LOMBIL 6T
HE6VaUNTS BMhS CaHiH0OS[HESILLLITY.

2) @bHw sbulssienvl. &L FWTEIS] HTFMEISHSST60
1934 6b emL QFwLLLLg).

A 1wl @b B.2 ol G

C.1&2 D. e1g1e4b Q6vemev

Choose the correct statement.
1) In 1919, Gandhiji was elected as President of
the khilafat movement.
2) The communist party of India was banned by
Government in 1934.

A. lonly B. 2only
C.1&2 D. Neither
43) QuNK55Is.

a) Qeuwilest GLeil GamienL — 1) umesoTp &G
b) afleveflwib Ga&MiemL — 2) &Levmy
c) QaulletTl sy GHMLevL — 3) GurbiBmenLd

d) syrufleny GamiemL — 4) wgymei

A2 3 41
B.4 2 1 3
C31 2 4
D1 4 3 2
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Match the following.
a) Fort st.David — 1) Pondicherry
b) Fort William - 2) Cuddalore
c) Fort st.George — 3) Bengal
d) FortLouis — 4) Madras
A2 3 4 1
B.4 2 1 3
C.31 2 4
D.1 4 3 2
44) pnggn gmb Gnsest gmi wHmd GLefl amifl
Sueupd Caimhgl Himieflw Blimieuestd 61g)?
A. Slmbwo swomegid
B. ops8lw sum
C. #6558 SH606YTSl
D. @1bgis s6vepmifl
Raja Rammohan Roy and David Hare was
associated with the foundation of ____.
A. Brahma samaj
B. Atmiya sabha
C. Sanskrit college
D. Hindu college
45) QU5 515.
a) efl&nw gsmigb — 1) 3102 BC
b) s g&miugw — 2) 320 AD
c) BUS g&MiugL — 3) 78 AD
d) smefl gsmigb — 4) 57 BC
A 2 1 4 3
B1 4 2 3
C4 3 2 1
D.4 2 3 1
Match the following.
a) Vikrama era — 1) 3102 BC
b) Sakaera - 2)320 AD
c) Guptaera-3)78 AD
d) Kaliera—-57BC
A 2 1 4 3
B1 4 2 3
cC4 3 21
D.4 2 3 1
46) SpsevoLeummie sflwnestens CsIBOS 0.

Learning Leads To Ruling
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1) @etigeons HABSHTUME 61651  EUMTEHENSHEMWI

2 (HeuMsEleu] LSS M.

2) Qa1 sg6umest GIgUl HlFM6ST 6T68TM EUMTEHENSHEMLI
2 (HEUMGSI LG 60MM6L LISGITT &Tenvdifl.

3) Qg aflbs eeTn QFTELEM6Y 2 (HEUMSESI W6
LIV HISST Sl6vs.

A1&2 B.2&3

C.1&3 D. Siemer1&gId

Choose the correct statement.
1) The slogan Inqulab Zindabad coined by

Bhagat singh.

2) The slogan jai jawan jai kisan was coined by
Lal Bhadhur shastri.

3) The slogan jaihind was coined by Bala
Gangadhara Tilak.

A 1&2 B. 2&3

C.1&3 D. All

47) seupns QunphHwetenensg Caimes®H .
A. swn&s] iuest — MFeipGELO6sT

B. Wlgm-2.60-180117 - g g GLomssest il
C. Gaaifl - umev HRIBNST Hlevsy

D. wra @i - iebtenfl QLisetTL

Choose wrongly matched pair.

A. Samachar dharpan — Marshman

B. Mirat-ul-Akbar — Raja Rammohan Roy

C. Kesari — Bala Ghangadhar Tilak
D. YoungIndia — Annie Besant

48) S1p5 5 6evTLUHMIET Heumna QUT(BHSWsTenens,
Caibos®-

A. usveveu SiFesT — LFGLDENEUITEST

B. sMEem&sIW Sipg6tT - (NSO LITTHS&6T

C. @rmeiplengal_ STEF6T - SH6voTly. HITSHT

D. Gamp ipgest — allggwimevulest

Choose the wrongly matched pair.
A. Pallava king — Parameswara

B. Chalukya king — Parantaka I

C. Rashtrakuta king — Danti Durga
D. CholaKing — Vijayalaya

49) siflwnest aphenm CHIHOSHH.
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1) 5amnGev s6vGIGULeBL 6TSlWeul SisE6uFLo6sT.
2) @5 FMEBSEW pETTesT QeverLmd LiefGss
upfl GBILNIHSS).
3) @81 2BEHT wHlevsHlev SmewTLILIBE DS
A1&2 B.2&3
C.1&3 D. Sieneniggiid
Choose correct statement.
1) Aihole inscription was written by Ravi kirti.

2) It mentions about chalukya king Pulakeshi
II.
3) Itisfound at district of Andhra Pradesh.
A 1&2 B.2&3
C.1&3 D. All
50) Sipsaevosubenm &ev auflenaliLBSSs.
1) @ueseTLND BHSHleurioesT
2) (pa6omid B bL6eUTLOET
3) (psevmid LITNHS&65T
4) aeflsguimevwiest
A. 1-2-3-4
B. 2-1-4-3
C. 3-4-1-2
D. 4-1-3-4
Arrange the following in chronological order.
1) Nandivarma Il
2) Narasimhavarmal
3) Parantakal
4) Vijayalaya
A. 1-2-3-4
B. 2-1-4-3
C. 3-4-1-2
D. 4-1-3-4
51) sflunestens CxiHOS 0.
1) ewmguum waéseflest (WPSEHW SLeyem UGS
6T60TER)|LD &Fl6ueoT.

2) &byl FwGeusflufley Sispeurymisd 1921 6o

BL5SS-
A. 1ol B. 2w (Hid
C.l&2 D. ergleyd Qevemev

Choose correct statement.

Learning Leads To Ruling
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1) The main God of Harappans was Lord Shiva
as Pasupathi

2) The excavation of Indus valley civilisation
was done in 1921

A. lonly B. 2 only
C.1&2 D. Neither
52) #flwneviens CHIHOS®H

1) (pseord FHSHTGSUST LSHITTLTE [T 6T6tT6H)ILD
UL Qubmeur.

2) @nesoiLmd FHEHFGUST efsTonHSwm st

S{em&sLILI(HS M.
3) gevmd FHATGIST HBHSS L HEE eubGeuT
FYSHTGSLS.
A1&2 B.2&3
C.1&3 D.1,2&3

Choose correct statement.
1) Chandraguptal, got the title of

Maharajadhiraja.
2) Chandragupta II was also known as
Vikramadithya
3) Chandragupta I was succeeded by
Samudragupta
A 1&2 B. 2&3
C.1&3 D.1,2&3
53) sflunen saphenm CoiHBOSEH.

1) oiGevgemesoiL 333 BC 60 @b 155 LienL

TEEST.
2)  oQevsetetILy  gfevld  LHMID  FewTLl
SpMIBEHEHEG QemLUULL LGHleow pl & Q&g
Gurnreny HrFemr CHMHSINSSTI.

A 1wl pHw B.2 v (b

C.1&2 D. e1g1041b Q6vemen

Choose the correct statement.
1) In 333 BC, Alexander invaded India.
2) Alxander defeated the king Porus, who is the
ruler of the kingdom between the rivers

Jhelum and Chenab.
A.lonly B. 2 only
C.1&2 D. Neither
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54)  &ipsseveTLsummiet
CaiHosE-

1) Gempiseflest efipsfleEl NneE Gzest Guips
LG UbDSI-

2) Gaevry Guene Himiellweur &Lob&EF6wT.

gflunesr  Famemm

3) Gzevry GuHlett FMHS 2NTET efleguGaeoT.
A1&2 B.2 &3
C.1,2&3

Choose the correct statement.
1) After the decline of palas, the sena dynasty
established its rule in Bengal.
2) The founder of the sena dynasty was

D. eigja|b @evemen

samantasena.

3) The greatest ruler of the sena dynasty was
vijayasena.

A 1&2 B. 2 &3

C.12&3 D. None

55) SpsasatLaummiet @iHHwneneu oy H Qs
P56 (Peivedld eUDELD 6187

A. Sienid 6ubELD B. £l6vgd] eulb&Ld
C. 518615 aub&Ld D. Gevmig eulb&LD

Which of the following dynasty was the first
Muslim dynasty that ruled India?

A. Slave dynasty

B. Khilji dynasty

C. Tughlag dynasty

D. Lodidynasty

56) seupns QunphSlwsitenens Coibos®H.
A. & NSTeN - BHreosTeug FHEHW (&

B. & 2iiegestt Cxel - bameug E&HW (&
C. & Uh amij 7l - preug FEEW G
D. @& Ganailbhs fm - uGzmeug E&HW (&
Choose the wrongly matched pair.

A. Guru Ramdoss — Fourth Sikh Guru

B. Guru Arjun Dev - Fifth Sikh Guru

C. Guru Sri Har Rai — Sixth Sikh Guru
D. Guru Gobind Singh — Tenth Sikh Guru

57) semulinjsenen Sifl5s Lisveveu SipET wmj?
A. alleipstn)GamuiesT

B. flibweileipesn)

Learning Leads To Ruling
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C. wpgeomd EsBST6uTLO6sT

D. nmegélibiosst

Which pallava king destroy kalabirars?
A. Vishnugopan

B. Simhavishnu

C. Mahendravaramal
D. Rajasimha

58) Ln&LIj eteiv. ijombumet Sl opAflwmessns
BLSHW CummLLLD e1g)?

B. @b\ sumd

D. @&y surmjLd

Dr. S. Dharmambal started an agitation for the
cause of Tamil teacherscalled _______

A. Nalla vaaram

B. Hindi vaaram

C. Tamil vaaram
D. Elavu vaaram

59) s&ECsmmevsHlev Gempnsemen (PMlwigHsHeuT
wny?

A. @nesorLmbd LeSlGss

A. B6v6V GUMJLD

C. 8l eurid

B. ge0md SGons eufap
C. Wwaevnd aflsrondl&uwest
D. eypestmmd &)(heipevorest

Who among the following defeated cholas at
Takkolam?

A. Pulikesin II

B. Amoghavarshal

C. Vikramadithyal

D. Krishnalll

60) Netr supueunsefley wabUF wIsD 4-1b CxHH
1926 opd evvTged QFEBTEMETT  LOMESHTETTTSH SHl6v
SlenEFTema sy &OBWLems 2 milfleoy
wimy?

A. P. sliugmusy Quligwimy

B. B. wsnuems) mmw@®

C. Dr.P. sliungmuwest

D. QumifleS gregm
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Who among the following was an independent
member who formed ministry in Madras
presidency during 4" december, 19267

A. P.Subbarayalu Reddiar

B. B.Munusamy Naidu

C. Dr.P.Subbarayan

D. Raja of Bobbili

61. LCM of x3-a®and (x-a)? is

b. (x3-a%)(x-a)?

d. (x+a)*(x*+ax+a?)

a. (x* — a%)(x+a)

c. (x-a)*(x*+ax+a?)
x*-a® whmib (x-a)® SpHweunilest 15.8).10. eTebLIg)
b. (x*-a%(x-a)?

d. (x+a)*(x*+ax+a?)

a. (x* — a%)(x+a)

c. (x-a)*(x*+ax+a?%)
62. A man buys 10 articles for Rs. 8 and sells them
at the rate of Rs. 1.25 per article. His gain is

a.20% b.50%

c.19%% d. 56 %%

@@ weflgest 10 yHevmgsst em. 85 eunmas
Seumenm em. 1.25 aizpw 10 yfemtisenen aflbmmy.
SiaU(HemILI 6VITLILD

a. 20% b. 50%
c.19%% d.56 %%

63.If a+b +c = 13 a*+ b%+ c? = 69, then find ab + be

+ca
a.-50 b. 50
c. 69 d. 75

a +b +c = 13 wmmb a*+ b*+ c? = 69, eresflév ab +bc

+ca smevur.
a.-50 b. 50
c. 69 d. 75

64. Divide Rs. 672 in the ratio 5: 3
a. Rs. 400 and Rs. 272
b. Rs. 420 and Rs. 252
c. Rs. 300 and Rs. 372

Learning Leads To Ruling
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d. Rs. 472and Rs. 300

em. 672 eowi 5 : 3 eteotiy lfllugmev flemLLiug)
a. e. 400 and em. 272
b. em. 420 and er. 252
c. . 300 and erp. 372
d. em. 472and em. 300

65. Find the simple interest on Rs. 7,500 at 8% per
annum for 1% years.

a.Rs. 800
c. Rs. 8,400

b. Rs. 900

d. Rs. 10,000

em. 7,500 &@ 8% eullp eizb @@ eumLwL 6
DG 5IS(ETH & STevT H6vfl AUl IpemIES: &MTevsIs.

1. 5. 800 . 900

9. 8,400 . em. 10,000

66. If one fifth of one third of one fourth of a
number is 2 then the number is

a.50 b. 60

c. 100 d. 120

61 eTevoTevniletT ybHlev (h LKletT eL6tTAIley 6(H
urai&letT HT6oTE60 €2(IH LIMIE 2 6T6uflev i6uGleussor
1. 50 4. 60

8. 100 . 120

67. A man invested § of his capital at 7%; ' at 8%

and the remainder at 10%. If his annual income is
Rs. 561 find the capital.

a. Rs. 5500 b. Rs. 6500

c. Rs. 5600 d. Rs. 6600

QHeu] 7% aullp eflflg s Hlev SiauHenLW (5651960

eweoley @ UGSHenwwd, 8% eully allHlgsHlev
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Q& WIG]6ITENTT. Bi6U(THEML 6U(HL 6uU(HLOMEDTLD oM. 561
6T63tl6v, Si6U(HEMILW (PSHESL6OILE SHITEToIs.

a. em. 5500 b. em. 6500

c. ¢m. 5600 d. er. 6600

68. The length of the longest rod that can be placed
in a room of dimensions 10 m x 10 m x 5m is
a.15v/3m b.15m

c.10V2m d.5V3m

10 5 X105 X515 Semeyeiten @H Hemmuilev

emaulugmamesr @@ swululler ofsuls Hembd

wigy?
a.15/315 b.15 8
c.10V2 8 d.5V3 8

69. If V4096 = 64, then the value of V4096 +
v40.96 ++/0.004096 is

a.70.4 b. 70.464
c.71.04 d. 714

V4096 = 64, etesflév V4096 + 1/40.96 + 1/0.004096

-60T &I
a.70.4 b.70.464
c.71.04 d.71.4

70. A silver wire when bent in the form of square
encloses an area of 121 sq.cm. If the same wire is

bent in the form of a circle. Find the radius of

Circle.
a.llcm b.7cm
c.3.5cm d.14cm

QU Qeusitefl swUlenw euenens g Qb F5ITLNS

nHPUUEEME. sgnsHest uguy 121 5.5 .

Learning Leads To Ruling
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3ACs sbUlew euemensgH  QUH  QILLLIONS
LIHIlEBTEL SiHS UL LSH6BT D4TLD 616516017

31 11 Q&.15. 2. 7Q&.15.
@.3.50&.15 m. 14 Q&8

71. 1100 boys and 700 girls are examined in a test.

42% of the boys and 30% of the girls pass. Find the

% of the fail.
a. 58% b. 62 g%
c. 64% d. 78%

@m Gzhiemeu 1100  wrewwreujsEmHw, 700
wnesotaileEmd  e1pgIHetTmenty. eujserfleo 42%
wnessteujsEH  30%  wresvelleEnd  CxEL
Qumflestmert, etevflev Czmevell iemLBEHMfl6tT
F56I5ID SHT6vor.

a. 58% b. 62 2%

c. 64% d. 78%
72. Find the greatest number which on dividing

1657 and 2037 leaves remainders 6 and 5

respectively.
a. 127 b.135
c.240 d. 147

1657 whmib 2037 opflu @@ ewTEET, Qb
eTevsTeTOIey  QUGUGBL Qungl HleLsEw 1)

(e 6 LHMID 5 eTeufley, 6uE &G W WELIQUIflw eTesoT

SIT65015.
a. 127 b.135
c. 240 d. 147

73. Find the missing term:
CX,DW,EV, ____,GT
a. AZ b. HS
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c.EV d.FU
allGULLeng Sevo1(BLill.
CX,DW,EV, ____,GT

a. AZ b. HS
c.EV d.FU

74. What is probability of getting more than 4
when a dice is thrown?

a. b.
d.

5
3
1
C.-
3

aln ulR

@Mm useL 2;LLuu@L Gung 5-m@ Guev
femL g manest Hl&H15 86 eTetTent?
a. b.=

d.

5
3
1
C.-
3

aln @

75. Refrigerator is purchased for Rs. 14, 355,
including sales tax. If the actual cost price of the
refrigerator is Rs. 13,050, find the rate of sales tax.
a. 11% b. 8%

c.9% d. 10%

Q@ Gefljensem) Quiigsnw, afllHuenest suflGun®
Censgl em. 14355-8&@ ellhsuu@Emgl. SiHeot
2 evoTemiownest eunmiHlw eflemev em. 13050 erevflev
afllhuenent eufl #&6i556058 Hnevors.

a. 11% b. 8%

c.9% d.10%

76.1f 2x +y = 15, 2y +z = 25 and 2z +x = 26, what is
the value of z?

a.4 b.7

c.9 d. 11

2x +y =15, 2y +z = 25 wmmib 2z +x = 26, erevflév Z ebr

H)LIL| eTedTE01?

Learning Leads To Ruling
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3.4 o 7
8.9 Fr. 11

77. Six people A, B, C, E, F are sitting on the ground
in a hexagonal shape. All the sides of the hexagon
so formed are of same length. A is not adjacent to
B or C. D is not adjacent to C or E, B and C are
adjacent, F is in the middle of D and C. which of the
following sis not a correct neighbor pair?
a.AandF b.DandF

c.BandE d.CandF

A, B, C, D, E, F o3&Cwmj oimiriGsnesor eulgousHlev
gwwner FMsHlev jwhgieenesty. A ww Buwb
Simanenuilev Gevemev, CH Gumev Awjd, Cujid
Simanenouilev Qevemey, D-wjb C-&@w, E-H@Gw
Simsnenuiley @enev, B-ud C-w  iHHlev
2 emtenteuty. F et6b1L1g) D-8(51b mEeflev 2 6iteng). SCip
2 eiTemeuMM]6iT 618 Si(HSTemouilev Qevevns Gggmg?

a. A ww F uyw b.D b F wyb
d.C ww F ww

c. Buyw Eww

78. In the following series , a wrong number is
given, find out that wrong number.

4,5,10, 18, 34,59, 95

a.34 b. 59
c.10 d.18
Netteu@pld  @QanLiflés  Heummest  elevvTencwvTs:

sevo1(BLilig.

4,5,10, 18, 34, 59, 95
a.34 b.59
c.10 d.18
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79. The ratio of the area of a square to that of the
square drawn on its diagonal is
a.ll b.1:2

c.1:3 d1:4

uplSii &L,

M  FHITHS6H SiSElenL W

ewenevailLLd euflwng euenquiLGBL &&I5S5H 60T

unuiih Lo 2 eier aflflsomestg)
a.ll b.1:2
c.1:3 d1:4

80. What percent is 5 grams of 1 Kg?
a. 5% b. 1%
c.0.5% d.0.2%

1 £iGevn Hlyml (g 5 ymd % etedrenr?

a.5% b.1%

c.0.5% d.0.2%

8l. @nSHwneilev yHans HlubdlssiulL Csigev
S4,65Y65TTWLIT WITT?

[A] Shelesh Bhardwaj

[B] Sushil Chandra

[C] Ashutosh Saxena

[D] Alok Chaudhary

Who is the newly appointed Election
Commissioner (EC) of India?

[A] Shelesh Bhardwaj

[B] Sushil Chandra

[C] Ashutosh Saxena

[D] Alok Chaudhary

82. 2016 =0 pTuI(RSHSHNETT  HEVNEFFM

QbhnienwssTe snsa) afll g [Tagore Award for
Cultural Harmony] Qummeur wimj?

[A] Ram Sutar Vanji

[B] Chhayanaut

[C] Rajkumar Singhajit Singh

[D] Milind Kumar

Who is the recipient of the Tagore Award for
Cultural Harmony for year 2016?

Learning Leads To Ruling
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[A] Ram Sutar Vanji

[B] Chhayanaut

[C] Rajkumar Singhajit Singh

[D] Milind Kumar

83. 2evzemmailu fHlemev Guwum @ 258 BTG

(WSDS-2019)[World Sustainable Development
Summit] et &(HLCLIMHET 6eT6bT6wT?

[A] Attaining the 2030 Agenda: Delivering on Our
Promise

[B] Attaining the 2050 Agenda: Delivering on Our
Promise

[C] Attaining the 2040 Agenda: Delivering on Our
Promise

[D] Attaining the 2020 Agenda: Delivering on Our
Promise

What is the theme of the World Sustainable
Development Summit (WSDS-2019)?

[A] Attaining the 2030 Agenda: Delivering on Our
Promise.

[B] Attaining the 2050 Agenda: Delivering on Our
Promise.

[C] Attaining the 2040 Agenda: Delivering on Our
Promise.

[D] Attaining the 2020 Agenda: Delivering on Our
Promise.

84. “aubBs umys ergevLilyeiv” eulfl HLLD eTetTenI?

[A] New Delhi to Varanasi

[B] Allahabad to Hooghly

[C] Shimla to Kolkata

[D] Mumbai to Chennai

What is the route of the “Vande Bharat Express”?
[A] New Delhi to Varanasi

[B] Allahabad to Hooghly

[C] Shimla to Kolkata

[D] Mumbai to Chennai

85. sSusHev Uallullwev GHMlui® (Geographical

Indication GI) GumGaner “Tag” HenL sz FCI(H

LD(EhE6TT, Lilebreu(mLd 6H G miblevs gL et
QgmjyenLwg)?
[A] siBILST [B] s181pmm(h

[C] opmHrulif@gew  [D] wasnmeiplprm
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Erode turmeric, which recently got GI tag, is
associated to which of the following states?

[A] Karnataka [B] Tamil Nadu

[C] Andhra Pradesh  [D] Maharashtra

86. 2.LwetTw H55 LilesTou(hLd 61158 eflememum(BLeor

Qs MLjLenLweur?
[A] weobw S [B] Gsiy1d
[C] ego@Ln [D] uLGsm Lib

Upamanyu Dutta, who is in news recently, is
associated to which of the following sports?

[A] Wrestling [B] Carrom

[C] Judo [D] Sailing

87. Life Insurance Corporation of India (LIC) — e&r
yHlw semeveunmna wmy Hlunsdlé s B siemmi?

[A] L.S.0y&ns [B] M.R.(gomy

[C] ef\Sl6tT 60T S [D] &&6v (gomy

Who has been appointed the new Chairman of Life
Insurance Corporation of India (LIC)?

[A]L S Prasad [BIM R Kumar

[C] Vipin Anand [D] Suseel Kumar

88. @ruflevnmbg) “United Kingdom” ietteusid emmbs
ysp@umm mpufler Hlenssteuns UHw & SHEHLLY
gleven  BhNesouSems eupridHlueteng? United
Kingdom has issued new ‘black hole’ coin in
honour of which of the following renowned
personalities?

[A] p&8 Bl Lett

[B] gnmyeveiv Lmjellest

[C] s1vieLictT DT

[D] b QuiGestieny — 68

United Kingdom has issued new ‘black hole’ coin
in honour of which of the following renowned
personalities?

[A] Isaac Newton

[B] Charles Darwin

[C] Stephen Hawking

[D] Tim Berners-Lee

89. WHO alflést sneuflemsll Uy 6hs HEOD 1615

Sig)s10n5 sl (HeiTeng)?

Learning Leads To Ruling
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[A] surtyevoTnd) [B] suflgmung

[D] GLsv6)

Which Indian city has been ranked first on the
WHO's list of 15 most polluted cities?

[C] &meTLy T

[A] Varanasi [B] Faridabad

[C] Kanpur [D] Delhi

90. eBs OFTMMCHTEE  (PSHEV(IPEOMWNS
s(phHglemenenwll ULbUliss8)?

[A] Gggerv @euLt erv@Lisiv

[B] amtifev

[C]EHT

[D] sroLfieruiy sroGLisiv

Which of the following telescopes has captured
the first-ever Black hole image?

[A] James Webb

[B] Space Hubble

[CIEHT

[D] Spitzer Space

91. @nSwneyw ey LEIMUSlW BIHL CFHmbled
SHIMUES WHMID euenjFAEEHNS Fal(h QUUBSID

Gum_(peiermen?
[A] @85m0 [B] stveiiLstt
[C] ssLipmetTeiy [D] @sgiwesf

India and which European country have launched
joint Industrial R&D programme to address shared

challenges?
[A] Ttaly [B] Sweden
[C] France [D] Germany

92. all(hsemev @ Slwnallest (psev Qrnssmieu Hemug
wimy?

[A] K M sflwiur

[B] gmb wonGestgasm

[CIK S Hbemowm

[D] P P (gwmwohigevld

Who was the first Commander-in-Chief of Indian
Army post Independence?

[A] K M Carriappa

[B] Sam Manekshaw
[CIK S Thimayya
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[D] P P Kumaramangalam
93. S5opeuz UWfislwy umiiflesorest 656 (BPL)
ULL 608 Qleusttm ievafl 6151?
[A] emamsTTUTS amessTL o
[B] @Q&strement srvBloagiern
[C] Quraiseem TLILTen
[D] emu prs@aL s
Which of the following franchise teams has won
the 5th season of Premier Badminton League (PBL)
title?
[A] Hyderabad Hunters
[B] Chennai Smashers
[C] Bengaluru Raptors
[d] Munmbai Rockets
94. epndlev s, 6MHG allenemun(HLeoT
@z nLijyenLweur?
[A] B&&ev
[B] 26itermymiug UL G&MLL6b
[C] ezo°@Ln
[D] #ginrisid
Shakil Ahmed, who is in news recently, is
associated with which sports?
[A] Swimming
[B] Indoor rowing
[C] Judo
[D] Chess
95. Gulfll euluesr GLettesfley Gumiiguflev,
BLUUMeSoIh  SpLeu  nempwi  ULLSmS
QeuesTmeury wmy?
[A] Grmegy QuiLiTy
[B] srv@LuBssrmerv &L fumeiv
[C] Grmeus GynBasmalls
[D] 7Gu6v BLT6v
Who won the 2019 men's singles title at the Madrid
Open Tennis tournament?
[A] Roger Federer
[B] Stefanos Tsitsipas
[C] Novak Djokovic
[D] Rafael Nadal
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96. 2019 IPL Guniiguflev Wl&eayid wHLILeumiihg iy
steor BGgijey QFWIWLILIL (6O 4600TLer, &6V, 61HS
Slevsflenw& FmimHgeuymeurj?

[A] etremEseiv BTTLNG

[B] Qameva55T 6bL emTLj6iv

[C] Q&stement (@L1LiT Hrhisiv

[D] wewu @ibHlwestery

Andre Russell, who has been named Most
Valuable Player at the 2019 IPL tournament, is
from which of the following teams?

[A] Sunrisers Hyderabad

[B] Kolkata Knight Riders

[C] Chennai Super Kings

[D] Mumbai Indians

97. 2 ev&leiT (P56v LNINSHCWs GQLetursseim Hifls0\s1
usSHiflenswnesr “CRICZONE"@ev @Li1b Qumbmsiterm
@néHw HiflsECsL afynmigenest wmj?

[A] &L wemeuetT

[B] amiweilifg ser

[C] Wz e rrey

[D] sroid\ (&) orb&esT

Which Indian cricketer has been featured in the
world’s first exclusive women'’s cricket magazine
“CRICZONE"?

[A] Sophie Devine

[B] Harmanpreet Kaur

[C] Mithali Raj

[D] Smriti Mandhana

98. mLuunessi Facebook Hall of Fame @ev
GrjsalulL  Gzneed  QFenensmgmbd  (Zonel
Sougaijam), eBy < Q@HHw
Ceibgeunmeun?

wmblevsens &

[A] oiBewsTnEFeLILITEHED
[B] 51B&miyd

[C] Brasmevnh g

[D] wewsflLiLy
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Zonel Sougaijam, who has been included in the
Facebook Hall of Fame 2019, is from which Indian
state?

[A] Arunachal Pradesh

[B] Mizoram

[C] Nagaland

[D] Manipur

99. 2018 b pevTIHSHNEsT 54 Dp6uZ) (shmevTiiL
el WNHEE euPBISILLLS)?

[A] Si956u Gaeip

[B] w.opf.1emmbsepiss)

[C] &(meipesom Gamiidh)

[D] &ifleis sFBML

Who has been conferred the 54 th Jnanpith award

for the year 20187
[A] Amitav Ghosh
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[B] U R Ananthamurthy

[C] Krishna Sobti

[D] Girish Karnad

100. Quev@uniesflesr (IFFM — 2019) 10 oyeus)
Si&Hw HeopiuL  aflipneflsv
allphHlevinns LkICHEHSHa6TEN QHSHIW HlgssT wmy?
[A] pSsimap

[B] sgerveurwim pmit Liggest

[C] @nrewsfl (paiied)

[D] em(méamest

Which Indian actor will be chief guest at 10 th
Indian Film Festival of Melbourne (IFFM -2019)?
[A] Naseeruddin Shah

[B] Aishwarya Rai Bachchan

[C] Rani Mukerji

[D] Shah Rukh Khan

(PS66T6MID
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Group 4 VAO General Studies Model Test 14 — Answer Key

'Q A Q A Q A Q A Q A
) | c|ay| B |ap| B |en| c [8)] B
) | a2 B[4 c || D |8)] a
3) | B |23 | A [43)| A |63)| B [83) | &
2 | B |29 c {49 D [69]| B |89 | A
5) | D [25)| D (45| c [es) | B |85 | B
6) | c |26)| B [46)| A [66)| D [86) | D
7" | p|2n| b |an| D |6n| D |87 ]| B
8) | A |29 D |48 ] B |68)| B |89 | C
9) | B 29| c [499] A |69 | B |89 | c
100 | c {30 a|s)| B |70] B |90 C
m | b |sy|[B|sy|[c|m]|B || B
12) | c [ D[ D |72 A o] a
13) | D [3)]| c || B |73 D |9y]cC
14) | A [39)] A |59 c 7] c o] a
15| B [35 | c || a|7| Doy c
16) | ¢ [36)| D |[56)| c [76)| D [96) | B
17 | p [sn]| c|sn|B|m™m]|Aafon]D
18) | B (38| D |58 D |[79] c[og] D
199 | D [39)| A [s9)| D |79 B [99)] &
200 | ¢ 40 ¢ [60)[ c [80) ] ¢ [0 | D
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